
Answer on question 42683 – Math – Statistics and Probability 

A small company has developed a new product for the electronics industry. The company believes that an 

advertising campaign costing R2000 would give the product a 70% chance of success. It estimates that a 

product with this advertising support would provide a return of R11000 if successful and return of R2000 if 

it not successful. Past experience suggests that without advertising support a new product of this kind 

would have a 50% chance of success giving a return of R10000 if successful and a return of R1500 if not 

successful. 

Construct a decision tree and write a report advising the company on its best course of action. 

Solution 

Decision tree: 

 

 

 

 

 

 

 

 

 

 

 

 

 

To make a decision what choice is better we need to find the average income. 

With advertising: 

𝐼𝑛𝑐𝑜𝑚𝑒𝑎𝑣𝑒𝑟𝑎𝑔𝑒 = (0.7 ∗ 𝐵11000 + 0.3 ∗ 𝐵2000) − 𝐵2000 = 𝐵6300 

Without advertising: 

𝐼𝑛𝑐𝑜𝑚𝑒𝑎𝑣𝑒𝑟𝑎𝑔𝑒 = 0.5 ∗ 𝐵10000 + 0.5 ∗ 𝐵1500 = 𝐵5750 

As we can see it is better to make the advertising campaign. 
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Company 

Advertising Without advertising 

Cost B0 Cost B2000 

Success  

with probability 0.7 

Returned money B11000 Returned money B2000 

Returned money B10000 

Returned money B1500 

Not Success  

with probability 0.3 

Success  

with probability 0.5 

Not Success  

with probability 0.5 


